City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2) Beach Master Plan, Phase 2 Construction Agreement Exhibit A to Resolution No. 73-19

AGREEMENT

THIS AGREEMENT is hereby made and entered into this _____ day of ______, 20__, (the "effective date") by and between the City of Delray Beach, a Florida municipal corporation ("City"), whose address is 100 N.W. 1st Avenue, Delray Beach, Florida 33444, and MBR Construction, Inc., a Florida corporation (hereafter referred to as "Contractor"), whose address is 1020 N.W. 51st Street, Fort Lauderdale, Florida 33309.

WHEREAS, the City desires to retain the services of the Contractor to provide the goods and services in accordance with the City's Invitation to Bid Construction No. 2019-023, and the Contractor's response thereto, all of which are incorporated herein by reference.

NOW, THEREFORE, in consideration of the mutual covenants and promises hereafter set forth, the Contractor and the City agree as follows:

ARTICLE 1. INCORPORATION OF INVITATION TO BID CONSTRUCTION

The terms and conditions of this Agreement shall include and incorporate the terms, conditions, and specifications set forth in the City's Invitation to Bid Construction No. 2019-023, and the Contractor's response to the Invitation to Bid Construction, including all documentation required thereunder.

ARTICLE 2. DESCRIPTION OF GOODS OR SCOPE OF SERVICES

The Contractor shall provide the goods and/or perform those services identified in the specifications accompanying the City's Invitation to Bid Construction, which are incorporated herein by reference.

ARTICLE 3. COMPENSATION

The City shall pay to the Contractor, in compliance with the Pricing Schedule attached hereto and incorporated herein as Exhibit "A," according to the terms and specifications of the referenced Invitation to Bid Construction.

ARTICLE 4. MISCELLANEOUS PROVISIONS

a. <u>Notice Format</u>. All notices or other written communications required, contemplated, or permitted under this Agreement shall be in writing and shall be hand delivered, telecommunicated, or mailed by registered or certified mail (postage prepaid), return receipt requested, to the following addresses:

i. As to the City:

City of Delray Beach 100 N.W. 1st Avenue Delray Beach, Florida 33444 Attn: City Manager

City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2) Beach Master Plan, Phase 2 Construction Agreement Exhibit A to Resolution No. 73-19

II.	with a copy to:	City of Delray Beach 100 N.W. 1 st Avenue Delray Beach, Florida 33444 Attn: City Attorney
III.	As to the Contractor:	MBR Construction, Inc. 1020 N.W. 51 st Street Fort Lauderdale, Florida 33309 Attn.: Michael R. Boss, President

b. <u>Headings</u>. The headings contained in this Agreement are for convenience of reference only, and shall not limit or otherwise affect in any way the meaning or interpretation of this Agreement.

c. <u>Effective Date</u>. The effective date of this Agreement shall be as of the date it has been executed by both the parties hereto.

ARTICLE 5. CONTRACT TERM

د م له

This term of this Agreement shall be from the effective date through the completion of work and full acceptance by the City, unless terminated earlier in accordance with terms set forth in the ITBC.

(Remainder of this page is intentionally left blank.)

City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2) Beach Master Plan, Phase 2 Construction Agreement Exhibit A to Resolution No. 73-19 IN WITNESS WHEREOF, the parties have executed this Agreement on the dates hereinafter written.

CITY OF DELRAY BEACH, FLORIDA

[SEAL]

· ·

By:

Neal de Jesus, Interim City Mayor

ATTEST:

By:

Katerri Johnson, City Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

By: ____

Lynn Gelin, City Attorney

[SEAL]

CONTRACTOR
By:
Michael Boss
Printed Name
Title

STATE OF Florida COUNTY OF Broward

The foregoing instrument was	acknowledged before	e me this 💾	day of	Por, , 2019, by
Michael Boss as	resident (nar	ne of officer or a	agent, title	of officer or agent), of
MBR Construction (r	name of corporation a	acknowledging),	a FL	(state or place
of incorporation) corporation, or	h behalf of the corpo	ration. <u>He</u> /She i	is personall	<u>y known t</u> o me or has
produced	(type of	identification) a	s identificat	tion.

WENDY COLE BROCCOLI Notary Public - State of Florida Commission # GG 215731 My Comm. Expires Aug 28, 2022 Bonded through National Notary Assn. 5 Notary Public - State of

Beach Master Plan, Phase 2 Construction Agreement City of Delray Beach Exhibit A to 2019-023 Agreement, Pricing Schedule

2019-023

MBR CONSTRUCTION, INC.

Bid Contact Ron Boss

ebroc@mbrconstruction.com Ph 954-486-8404 Fax 954-486-9579 Address 1020 NW 51st Street FORT LAUDERDALE, FL 33309

Item #	Line Item	Notes	Unit I	Price Qty/Unit		Attch.	Docs
2019-023-01-01	GENERAL CONDITIONS: Contingency (10% of Base Bid)	Supplier Product Code:	First Offer - \$158,63	5.82 1 / lump sum	\$158,635.82	Y	Y
2019-023-01-02	GENERAL CONDITIONS: Mobilization and Demobilization (Max 2% of Base Bid)	Supplier Product Code:	First Offer - \$30,00	0.00 1 / lump sum	\$30,000.00		Υ
2019-023-01-03	GENERAL CONDITIONS: Maintenance of Traffic (Pedestrian and Vehicular). Meet FDOT Standards	Supplier Product Code:	First Offer - \$157,78	8.00 1 / lump sum	\$157,788.00		Y
2019-023-01-04	GENERAL CONDITIONS: As-Built Record Drawings per Professional Surveyor	Supplier Product Code:	First Offer - \$3,90	0.00 1 / lump sum	\$3,900.00		Y
2019-02301-05	GENERAL CONDITIONS: NPDES Permit / Erosion Control	Supplier Product Code:	First Offer - \$6,05	1.50 1 / lump sum	\$6,051.50		Y
2019-023-01-06	GENERAL CONDITIONS: Professional Video / Photography / Documentation Survey	Supplier Product Code:	First Offer - \$2,00	0.00 1 / lump sum	\$2,000.00		γ
2019-02301-07	GENERAL CONDITIONS: Construction Sigange	Supplier Product Code:	First Offer - \$5,00	0.00 1 / allowance	\$5,000.00		Y

			Beach Master Plan, Phase 2 Cor City of Delray Be Exhibit A to 2019-023 Agreemer	City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)		
2019-02301-08	GENERAL CONDITIONS Project Identification Sign	Supplier Product Code:		0.00 4 / each	\$2,000.00	Y
				Lot Total	\$365,375.32	
Item #	Line Item	Notes	Unit Price	Qty/Unit	At	tch. Docs
2019-023-02-01	DEMOLITION - BASE BID: Existing Pavers (Salvage and Pallatize for City)	Supplier Product Code:	First Offer - \$6.50	600 / square foot	\$3,900.00	Y
2019-02302-02	DEMOLITION - BASE BID: Protection of Existing FDOT Curbs and Gutters	Supplier Product Code:	First Offer - \$3,250.00	1 / lump sum	\$3,250.00	Y
2019-02302-03	DEMOLITION - BASE BID: Existing Concrete	Supplier Product Code:	First Offer - \$13.00	1500 / square foot	\$19,500.00	Y
2019-023-02-04	DEMOLITION	Supplier Product Code:	First Offer - \$8.71	2460 / square yard	\$21,426.60	Y
2019-023-02-05	DEMOLITION	Supplier Product Code:	First Offer - \$12.246	110 / square yard	\$1,347.06	Y
2019-02302-06	DEMOLITION	Supplier Product Code:	First Offer - \$12.246	560 / square yard	\$6,857.76	Y

. Ч

	(Casurina Road / SR A1A) to be milled (1.5)		Beach Master Plan, Phase 2 Cons City of Delray Bea Exhibit A to 2019-023 Agreement		City of Delr ITBC No. : Project No.: 1	2019-023
2019-02302-07	DEMOLITION - BASE BID: Existing Concrete Curb	Supplier Product Code:	First Offer - \$10.40	100 / linear foot	\$1,040.00	Y
2019-02302-08	DEMOLITION - BASE BID: Remove Benches in Pavilion (Return Plaques and Benches to City)	Supplier Product Code:	First Offer - \$325.00	16 / each	\$5,200.00	Y
2019-02302-09	DEMOLITION - BASE BID: Landscape	Supplier Product Code:	First Offer - \$1,950.00	1 / lump sum	\$1,950.00	Y
				Lot Total	\$64,471.42	
Item #	Line Item	Notes	Unit Price	Qty/Unit	Att	tch. Docs
2019-023-03-01	ON-SITE ITEMS - BASE BID: 4X4 Timbers (ACQ Treatment)	Code:		3000 / each	\$175,500.00	Y
2019-02303-02	ON-SITE ITEMS - BASE BID: Marine Grade Rope (w/ Aircraft Cable)	Supplier Product Code:		17500 / linear foot	\$113,750.00	Y
2019-023–03-03	ON-SITE ITEMS - BASE BID: Bike Racks (Furnish and Insall)	Code:	First Offer - \$558.09	20 / each	\$11,161.80	Y
	and moally					

х х а

Beach Master Plan, Phase 2 Construction Agreement City of Delray Beach City of Delray Beach 2019-023 ITBC No. 2019-023 Exhibit A to 2019-023 Agreement, Pricing Schedule Project No.: 15-008 (2) Drawings and Insta First Offer - \$260.00 \$4,420.00 Y 2019-023-03-05 ON-SITE Supplier 17 / each ITEMS · BASE Product **BID: Install** Code: New Benches in Main Pavilion and at Location (where missing) at North En Y 2019-023-03-06 ON-SITE Supplier First Offer - \$156.00 16 / each \$2,496.00 ITEMS - BASE Product BID: Purchase Code: and Install Engraved Bricks (to match existing plaques. See item 19) 2019-023--03-07 ON-SITE First Offer - \$3,575.00 \$3,575.00 Y Supplier 1 / lump sum ITEMS - BASE Product **BID:** Painting Code: of Curb and Chevron Thermoplastic Stiping at Main Pavilion 2019-023-03-08 ON-SITE Supplier First Offer - \$558.064 Y 25 / each \$13,951.60 ITEMS - BASE Product BID: Bike Code: Racks Lot Total \$326,605.50 Item # Line Item Notes **Unit Price** Qty/Unit Attch. Docs 2019-023-04-01 LANDSCAPE Y Supplier First Offer - \$7,800.00 1 / lump sum \$7,800.00 **ITEMS - BASE** Product BID: Shrub Code: Replacement @

	Atlantic Avenue / SR A1A					
2019-02304-02	LANDSCAPE ITEMS - BASE BID: Ground Cover Replacement @ Atlantic Avenue / SR A1A	Supplier Product Code:	First Offer - \$3,250.00	1 / lump sum	\$3,250.00	Y

2019-02304-0	3 LANDSCA	E	each Master Plan, Phase 2 Const City of Delray Bea xhibit A to 2019-023 Agreement, First Offer - \$6,500.00			Iray Beach . 2019-023 201 15-008 (2) Y
	ITEMS - BA BID: Irrigati Adjustment needed in shrub and ground cov areas	SE Product on Code: t as				
			an the state of the state of the state of the	Lot Total	\$17,550.00	-
Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
2019-02305-01	(CIVIL) UTILITIES - BASE BID: Cut in and supply brick paver truncated domes at crosswalks	Supplier Product Code:	First Offer - \$560.5644	16 / each	\$8,969.0304	Y
2019-02305-02	(CIVIL) UTILITIES - BASE BID: New crosswalk areas to be resurfaced after rolled thickness (1.5ī¿½FC- 12.5)	Supplier Product Code:	First Offer - \$26.00	2460 / square yard	\$63,960.00	Υ
2019-02305-03	(CIVIL) UTILITIES - BASE BID: Restripe existing pavement markings in resurfaced areas	Supplier Product Code:	First Offer - \$7,670.00	1 / lump sum	\$7,670.00	Υ
2019-02305-04	(CIVIL) UTILITIES - BASE BID: Painted asphalt area for crosswalks	Supplier Product Code:	First Offer - \$5,200.00	6 / each	\$31,200.00	Y
2019-02305-05	(CIVIL) UTILITIES - BASE BID: Temporary paint for asphalt	Supplier Product Code:	First Offer - \$361.40	6 / each	\$2,168.40	Y

			Beach Master Plan, Phase 2 Constr City of Delray Beac Exhibit A to 2019-023 Agreement,		City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)	2019-02
2019-02305-06	crosswalks (CIVIL) UTILITIES - BASE BID: Thermo crosswalks	Supplier Product Code:	First Offer - \$520.00	6 / each	\$3,120.00	Y
2019-02305-07	(CIVIL) UTILITIES - BASE BID: FDOT Approved State Law Stop For Pedestrians Within Crosswalk signs	Supplier Product Code:	First Offer - \$1,592.50	12 / each	\$19,110.00	Y
2019-02305-08	(CIVIL) UTILITIES - BASE BID: Concrete Curb Ramp (Meet FDOT standards)	Supplier Product Code:	First Offer - \$2,600.00	6 / each	\$15,600.00	Y
2019-02305-09	(CIVIL) UTILITIES - BASE BID: Concrete Sidewalk Replacement	Supplier Product Code:	First Offer - \$4.745	1200 / square foot	\$5,694.00	Y
2019-02305-10	(CIVIL) UTILITIES - BASE BID: Asphalt Paving	Supplier Product Code:	First Offer - \$159.6053	750 / square yard	\$119,703.975	Y
2019-02305-11	(CIVIL) UTILITIES - BASE BID: Cut in and supply brick paver truncated domes	Supplier Product Code:	First Offer - \$605.475	6 / each	\$3,632.85	Y
2019-02305-12	(CIVIL) UTILITIES - BASE BID: New crosswalk areas to be resurfaced after rolled thickness	Supplier Product Code:	First Offer - \$143.00	1250 / square yard	\$178,750.00	Y

	(1.5�FC- 12.5)		Beach Master Plan, Phase 2 Const City of Delray Beac Exhibit A to 2019-023 Agreement,	ch	City of Delray Bea ITBC No. 2019-0 Project No.: 15-008	23 2019-023
2019-02305-13	(CIVIL) UTILITIES - BASE BID: Restripe existing pavement markings in resurfaced asphalt	Supplier Product Code:	First Offer - \$3,575.00	1 / lump sum	\$3,575.00	Y
2019-02305-14	(CIVIL) UTILITIES - BASE BID: Painted asphalt area for crosswalks	Supplier Product Code:	First Offer - \$9,547.20	3 / each	\$28,641.60	Y
2019-02305-15	(CIVIL) UTILITIES - BASE BID: Temporary paint for asphalt crosswalks	Supplier Product Code:	First Offer - \$361.40	3 / each	\$1,084.20	Y
2019-023-05-16	(CIVIL) UTILITIES - BASE BID: Thermo crosswalks	Supplier Product Code:	First Offer - \$715.00	3 / each	\$2,145.00	Y
2019-02305-17	(CIVIL) UTILITIES - BASE BID: FDOT Approved State Law Stop For Pedestrians Within Crosswalk signs	Supplier Product Code:	First Offer - \$1,592.50	2 / each	\$3,185.00	Y
2019-02305-18	(CIVIL) UTILITIES - BASE BID: Concrete Curb Ramp (Meet FDOT standards)	Supplier Product Code:	First Offer - \$2,600.00	8 / each	\$20,800.00	Y
2019-02305-19	(CIVIL) UTILITIES - BASE BID:	Supplier Product Code:	First Offer - \$3.25	1200 / square foot	\$3,900.00	Y

e. . . .

	Concrete Sidewalk		Beach Master Plan, Phase 2 Const City of Delray Bea Exhibit A to 2019-023 Agreement,		City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)	2019-023
2019-02305-20	Replacement	Supplier Product Code:	First Offer - \$70.5685	555 / square yard	\$39,165.5175	Y
2019-02305-21	(CIVIL) UTILITIES - BASE BID: Cut in and supply brick paver truncated domes	Supplier Product Code:	First Offer - \$1,178.3575	8 / each	\$9,426.86	Y
2019-02305-22	(CIVIL) UTILITIES - BASE BID: New crosswalk areas to be resurfaced after rolled thickness (1.5�FC- 12.5)	Supplier Product Code:	First Offer - \$143.00	1650 / square yard	\$235,950.00	Y
2019-02305-23	(CIVIL) UTILITIES - BASE BID: Restripe existing pavement markings in resurfaced asphalt	Supplier Product Code:	First Offer - \$3,575.00	1 / lump sum	\$3,575.00	Y
2019-02305-24	(CIVIL) UTILITIES - BASE BID: Painted asphalt area for crosswalks	Supplier Product Code:	First Offer - \$6,185.40	4 / each	\$24,741.60	Y
2019-02305-25	(CIVIL) UTILITIES - BASE BID: Temporary paint for asphalt crosswalks	Supplier Product Code:	First Offer - \$361.40	4 / each	\$1,445.60	Y
2019-02305-26	(CIVIL) UTILITIES -	Supplier Product	First Offer - \$536.25	4 / each	\$2,145.00	Y

. . .

Beach Master Plan, Phase 2 Construction Agreement City of Delray Beach

Exhibit A to 2019-023 Agreement, Pricing Schedule

City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)

2019-023

	BASE BID: Thermo crosswalks	Code:	Exhibit A to 2019-023 Agreement,		Project No.: 15-	
2019-02305-27	(CIVIL) UTILITIES - BASE BID: FDOT Approved State Law Stop For Pedestrians Within Crosswalk signs	Supplier Product Code:	First Offer - \$1,592.50	2 / each	\$3,185.00	Y
2019-02305-28	(CIVIL) UTILITIES - BASE BID: Install inline sewer clean out on existing 8� VCP sewer main in SW corner Atlant	Supplier Product Code:	First Offer - \$3,900.00	1 / lump sum	\$3,900.00	Y
	E.			Lot Total	\$846,443.6329	
Item #	Line Item	Notes	Unit Price	Qty/Unit	Attc	h. Docs
2019-023-06-01	MISC BASE BID: Phantom -	Supplier Product Code:	First Offer - \$5,000.00	1 / allowance	\$5,000.00	Y
	4 Drone (Licenses Required to be purchased and procured by City)					
2019-02306-02	4 Drone (Licenses Required to be purchased and procured by City)	Supplier Product Code:	First Offer - \$121,000.00	1 / allowance	\$121,000.00	Y

Beach Master Plan, Phase 2 Construction Agreement City of Delray Beach

Exhibit A to 2019-023 Agreement, Pricing Schedule

ŵ.

ATV:	Code:
Outlander	
DPS	
450/570	
(Specs and	
Built +	
Priced by	
City)	

1. I.

Service and and	Martin and Martin			and the second second	Lot Total	\$138,500.00	
Item #	Line Item	Notes	21.40至664	Unit Price	Qty/Unit		Attch. Doc
2019-02307-01	ADD ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: Concrete Light Pole - Ameron # MER04.3	Supplier Product Code:	First Offer	- \$2,531.516	62 / each	\$156,953.992	Y
2019-02307-02	ADD ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: Concrete Light Pole w/ receptacle at base - Ameron # MER04.3	Supplier Product Code:	First Offer -	\$3,324.8931	62 / each	\$206,143.3722	Y
2019-02307-03	ADD ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: Lumunis Fixture - # SR135- L2W18K-2A- R2-120/277V- MST-APS-	Supplier Product Code:	First Offer -	\$3,438.682	124 / each	\$426,396.568	Υ

Beach Master Plan, Phase 2 Construction Agreement City of Delray Beach
Exhibit A to 2019-023 Agreement, Pricing Schedule

City of Delray Beach ITBC No. 2019-023 2019-023 Project No.: 15-008 (2)

	BLC2			0	110,000,11010	
2019-02307-04	ADD ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: Meteor Solar Bollard - # SP018- AMBER-1SR- WD-XXX-AKS	Supplier Product Code:	First Offer - \$2,812.901	40 / each	\$112,516.04	Y
2019-02307-05	ADD ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: Precast Concrete Base for Solar Bollard	Supplier Product Code:	First Offer - \$455.00	40 / each	\$18,200.00	Y
2019-02307-06	ADD ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: #12 wire pulled into existing 3/4 PVC Schedule 40 conduit from pullbox to light	Supplier Product Code:	First Offer - \$0.6981	7400 / linear foot	\$5,165.94	Y
	ALTERNATE	Supplier Product Code:	First Offer - \$1.5418	18500 / linear foot	\$28,523.30	Y

	Approval: #6 wire pulled into existing 1- 1/4 PVC		Beach Master Plan, Phase 2 Constru City of Delray Beach Exhibit A to 2019-023 Agreement, F		City of Delray ITBC No. 20 Project No.: 15-0	19-023 201
2019-023-07-08	ALTERNATE #1 - (ELECTRICAL) UTILITIES - PENDING FDEP and FWC Permit Approval: #8	Supplier Product Code:	First Offer - \$1.1076	9200 / linear foot	\$10,189.92	Y
	wire pulled into existing 1- 1/4 PVC Schedule 40 conduit					
2019-02307-09	ALTERNATE	Supplier Product Code:	First Offer - \$151.4396	124 / each	\$18,778.5104	Y
				Lot Total	\$982,867.6426	
Item #	Line Item	Notes	Unit Price	Qty/Unit	At	tch. Docs
	ADD ALTERNATE #2 (CIVIL) ROADWAY IMPROVEMENT at VENETIAN DF AND GLEASON ST.: Mobilization and Demobilization (Max 2% of Bas Bid)	Code: S R. e			\$30,000.00	Y
	ADD ALTERNATE #2 (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR	Code:		1 / lump sum	\$51,063.00	Y

2

	Maintenance of Traffic (Pedestrian and Vehicular). Meet FDOT Standards	E	each Master Plan, Phase 2 Construc City of Delray Beach Exhibit A to 2019-023 Agreement, Pri		City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)	2019-(
2019-02308-03	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: As-Built Record Drawings	Code:	First Offer - \$2,652.00	1 / lump sum	\$2,652.00	Y
2019-02308-04	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Professional Video / Photography / Documentation Survey	Supplier Product Code:	First Offer - \$780.00	1 / lump sum	\$780.00	Y
2019-02308-05	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Unforeseen Conditions	Supplier Product Code:	First Offer - \$100,000.00	1 / lump sum	\$100,000.00	Ŷ
2019-02308-06	ALTERNATE #2 -	Supplier Product Code:	First Offer - \$13,000.00	0.2 / acre	\$2,600.00	Y
2019-02308-07	ALTERNATE #2 -	Supplier Product Code:	First Offer - \$42.90	281 / square yard	\$12,054.90	Y

	ST.: 1.5 Asphalt Milling	Ex	hibit A to 2019-023 Agreement, Pr	icing Schedule	Project No.: 15-00)8 (2)
2019-02308-08	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Superpave Asphaltic Concrete, Traffic C (2.5)	Code:	First Offer - \$208.00	116 / ton	\$24,128.00	Ŷ
2019-02308-09	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Friction Course FC-12.5 (1.5) (Traffic Level C) (PG 76- 22)	Code:	First Offer - \$208.00	93 / ton	\$19,344.00	Y
2019-02308-10	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: 12 Stabilized Subgrade	Supplier Product Code:	First Offer - \$16.562	845 / square yard	\$13,994.89	Y
2019-02308-11	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Type F Curb (Concrete Curb)	Supplier Product Code:	First Offer - \$32.50	79 / linear foot	\$2,567.50	Υ
	ALTERNATE #2 -	Supplier Product Code:	First Offer - \$133.4396	85 / square yard	\$11,342.366	Y

•

1			ch Master Plan, Phase 2 Construc City of Delray Beach hibit A to 2019-023 Agreement, Pri		City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)	201
2019-02308-13	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR AND GLEASON ST.: Detectable Warning	Code:	First Offer - \$33.8023	87 / square foot	\$2,940.8001	Y
2019-02308-14	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Stamped Pattern Asphalt Pavement	Code:	First Offer - \$143.00	845 / square yard	\$120,835.00	Y
2019-02308-15	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: 15 Limerock Base	Code:	First Offer - \$17.1575	 845 / square yard 	\$14,498.0875	Y
2019-023-08-16	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Sediment Barrier (Silt Fence) and Inlet Protection	Supplier Product Code:	First Offer - \$5.5223	730 / linear foot	\$4,031.279	Y
2019-02308-17	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: 6 W/R, Y/Y RPMS	Supplier Product Code:	First Offer - \$7.475	20 / each	\$149.50	Y
019-02308-18	ALTERNATE #2 -	Supplier Product Code:	First Offer - \$0.728	900 / linear foot	\$655.20	Y

h. P

9

	IMPROVEMENTS at VENETIAN DR AND GLEASON ST.: Painted Pavement Markings, Standard 6 White	Ex	ich Master Plan, Phase 2 City of Delra hibit A to 2019-023 Agree			City of Delray Beach ITBC No. 2019-023 Project No.: 15-008 (2)	2019
2019-02308-19	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Painted Pavement Markings, Standard 6 Double Yellow	Code:	First Offer -	\$1.56	150 / linear foot	\$234.00	Y
2019-02308-20	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Thermoplastic, Standard, White, Solid, 12	Code:	First Offer -	\$3.25	600 / linear foot	\$1,950.00	Y
2019-02308-21	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Thermoplastic, Standard, White, Solid, 24	Supplier Product Code:	First Offer -	\$8.58	500 / linear foot	\$4,290.00	Y
	ADD ALTERNATE #2 - (CIVIL) ROADWAY IMPROVEMENTS at VENETIAN DR. AND GLEASON ST.: Landscape Removal	Supplier Product Code:	First Offer - \$6,5	00.00	1 / lump sum	\$6,500.00	Y

i.

		Exh		23 Agreement	truction Agreement ach , Pricing Schedule	ITBC	Delray Beach No. 2019-023 2019-0 Io.: 15-008 (2)
Item # 2019-023-09-01	Line Item ADD ALTERNA #3 - MAINTENANCE ITEMS - ADD ALTERNATE #3: Sealcoat Gazeb (see product specification)	Produc Code:		Unit Pi		\$3,250.00	Attch. Docs Y
Item #	Line Item	Natao		Unit Pric		\$3,250.00	Attab Dage
2019-02310-01	ADD ALTERNATE #3 MAINTENANCE ITEMS - ADD ALTERNATE #4: Paint Pavilion (per City standard paint)	Code:	First Offer			\$9,750.00	Attch. Docs Y
					Lot Total	\$9,750.00	
Item # 2019-02311-01	Line Item ADD ALTERNATE #3 - MAINTENANCE ITEMS - ADD ALTERNATE #5: Paint Knee Wall (see product specification)		U First Offer -	\$2.3111	Qty/Unit 2700 / linear foot	\$6,239.97	Attch. Docs Y
					Lot Total	\$6,239.97	
Item # 2019-02312-01	ADD ALTERNATE #3 - MAINTENANCE ITEMS - ADD		First Offer -	nit Price \$1.2243	Qty/Unit 103000 / square foot	\$126,102.90	Attch. Docs Y
	ALTERNATE #6: Seal Concrete (see product specification)						

Lot Total \$126,102.90

Supplier Total \$3,313,766.9081